

Townhouse in Sliema



Sliema, Sliema and St Julians Surroundings



€470,000

Reference No: 240231027-231

 Total Rooms: **5**

 Floor Area (m²) : **90**

 Bathrooms: **1**

 Bedrooms: **2**

Townhouse - For Sale - Sliema

SLIEMA – TOWNHOUSE WITH AIRSPACE being sold fully furnished, located in a prime area close to all amenities. The accommodation comprises a kitchen and dining area, a separate living room, a study, two double bedrooms, a main bathroom, a front terrace, and both internal and external staircases. The property is being sold freehold, highly finished, and fully furnished. Highly recommended for rental investors. For viewings, contact your preferred RE/MAX agent.

Features

- ✓ Air Space
- ✓ Back Yard
- ✓ Balcony

Rooms

- ✓ Kitchen/Dining : 2.96 x 3.59 m (10.63 m²)
- ✓ Living : 4.6 x 2.75 m (12.65 m²)
- ✓ Open Space : 2.33 x 2 m (4.66 m²)
- ✓ Double Bedroom : 3.73 x 3.45 m (12.87 m²)
- ✓ Double Bedroom : 4.75 x 2.74 m (13.02 m²)
- ✓ Bathroom : 2.15 x 1.25 m (2.69 m²)
- ✓ Open Space : 3.58 x 2.9 m (10.38 m²)

Gallery







Rimels Muca

RE/MAX Centerparc - Qormi

M: 99964410

E: rimels@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta